Program/						Room Nbr or		
Department	Item Description	Qty	Cost Each	Total Cost	Requestor	Space	Contact Person	Purch Resp
Advanced								
Manufacturing	CNC Tooling and Metrology Gaging				William	2330	William	
Technology	Equipment	1	\$50,000	\$50,000	McCracken		McCracken	Department
						Petaluma Doyle		
Agriculture	Veterinary Dental Machine	1	\$15,000	\$15,000	Vet Tech	212	Dan Famini	Department
	Landscape construction power tools and					Shone Hort Lab		
Agriculture	secure storage shed	1	\$45,000	\$45,000	Joel Grogan	Shorie Hort Lab	Joel Grogan	Department
Agriculture	Atago Digital hand-held refractometers and cases	10	\$450	\$4,500	Merilark Padgett Johnson	Richard Thomas Classroom	Merilark Padgett	Department
Agriculture	Vacuum Pumps for Aeration-Oxdiation System	5	\$800	\$4,000	Kevin Sea	Shone Farm Ag Pavilion Winery	Kevin Sea	Department
Agriculture	Lab Microscopes. 30 units x \$425/each	30	\$425	\$12,750	Kevin Sea	Shone Farm Ag Pavilion Winery	Kevin Sea	Department
Automotive						Lounibos 2360		
Technology	Automotive Diagnostic Equipment	1	\$45,000	\$45,000	David Lemmer	LOUIIIDOS 2300	David Lemmer	Department
Culinary Arts	Double-stack steam oven	1	\$18,000	\$18,000	Betsy Fischer	Burdo Culinary Arts Center	Betsy Fischer	Department
Shone Farm	John Deere Electric Gator	1	\$16,000	\$16,000	Connor Murphy	Shone Farm	Connor Murphy	Department
Shone Farm	Tandem Disc Farm Implement	1	\$10,000	\$10,000	Connor Murphy	Shone Farm	Connor Murphy	Department
Shone Farm	Water Trailer for livestock and forest restoration	1	\$15,000	\$15,000	Connor Murphy	Shone Farm	Connor Murphy	Department
Shone Farm	Shade Canopy for Instructional Farm Equipment	2	\$600	\$1,200	Connor Murphy	Shone Farm	Connor Murphy	Department
Shone Farm	Electric Solar Charger	1	\$650	\$650	Connor Murphy	Shone Farm	Connor Murphy	Department
Shone Farm	Fertilizer Applicator	1	\$8,000	\$8,000	Connor Murphy	Shone Farm	Connor Murphy	Department

	Computer station and printer in weld							
	shop office for progaming and printing					Lounibos 2392		
Welding	blueprints for classes	1	\$4,000	\$4,000	Jesse Kosten		Jesse Kosten	IT
	Student chairs and stools in the welding				Dan	Loupibos 2205		
Welding	lab	30	\$300	\$9,000	Aschwanden	Lounibos 2395	Dan Aschwanden	Department
					Dan	Loupibos 2205		
Welding	Welding Gas Tanks and Braces	4	\$2,500	\$10,000	Aschwanden	Lounibos 2395	Dan Aschwanden	Department

Agriculture & Natural Resources Total \$268,100

	High Quality Demo video camera with				Hiroshi	714,718.740,750,	Hannah	Media
Art	Zoom(not webcam)	7	\$1,200	\$8,400	Fuchigami	790,780,760	Skoonberg	Services
					Hannah	780	Hannah	
Art	Pressure washer	1	\$900	\$900	Skoonberg	780	Skoonberg	Department
						794	Hannah	
Art	iMac 24",3"	3	\$1,574	\$4,722	Nick Simko	794	Skoonberg	IT
					Hiroshi	718	Hannah	
Art	shimpo pottery wheel	6	\$1,700	\$10,200	Fuchigami	710	Skoonberg	Department
						794	Hannah	
Art	Canon Image PROGRAF PRO-1000 Bundle	3	\$1,517	\$4,551	Nick Simko	754	Skoonberg	Department
						794	Hannah	
Art	13 Macbook Air"	12	\$1,082	\$12,984	Nick Simko	754	Skoonberg	IT
	Canon Eos Rebel T7 DSLR camera with 18-					796	Hannah	
Art	55mm and75-300mm	8	\$755	\$6,040	Nick Simko	790	Skoonberg	Department
						796	Hannah	
Art	Uliine Flat cabinet 36x24""	3	\$927	\$2,781	Nick Simko	750	Skoonberg	Department
Communication						Garcia		
Studies	Camera lenses sports Sony 200-600	3	\$2,000	\$6,000	Anne Belden	Newsroom	Anne Belden	Department
Communication						Garcia		
Studies	Podcasting equipment	1	\$3,000	\$3,000	Anne Belden	Newsroom	Anne Belden	Department
	iPod Touches for drone flying - old ones							
Computer Studies	no longer hold a charge	4	\$325	\$1,300	Donald Laird		Donald Laird	IT
Computer Studies	Fixed-wing drone for drone program	1	\$13,300	\$13,300	Donald Laird		Donald Laird	Department

	80 Unfixed Wenger Musician Chairs for							
	Rm.105+60 tablet arms, delivery,					105		
Music	demo+resurface costs.	0	\$0	\$51,000	Jody Benecke		Jody Benecke	Department
	Theatrical Curtain and Hanging Track for		, -	1 - 7	, , , , , , , , , , , , , , , , , , , ,		,	
Music	Forsyth Rm.105	2	\$4,000	\$8,000	Jody Benecke	105	Jody Benecke	Department
Music	Roland KC-80 Keyboard Amplifier	1	\$500	\$500	Jody Benecke	115	Bennett Friedman	Department
Music	Allen & Heath ZED-14 12 channel mixer	1	\$600	\$600	Jody Benecke	150 (studio)	Rudolf Budginas	Department
Music	Roland JC-120 Jazz Chorus Amplifiers	2	\$1,250	\$2,500	Jody Benecke	115	Bennett Friedman	Department
Music	Wenger 4-Step Choral Risers for Burbank Stage	8	\$3,000	\$24,000	Jody Benecke	105	Jody Benecke	Department
						150 (studio) 115		
Music	2 Mackie Powered Speakers Thump 12	2	\$500	\$1,000	Jody Benecke	& 105	Rudolf Budginas	Department
Music	Mackie Thump 18 in powered subwoofer	1	\$1,000	\$1,000	Jody Benecke	150 (studio 115 & 105	Rudolf Budginas	Department
Music	Ludwig, Grand Symphonic Model, 23 Timpani drum"	1	\$4,000	\$4,000	Jody Benecke	115	Jerome Fleg	Department
Music	Instrument: Vibraphone: Musser 3.0 Pro Vibraphone With Motor	1	\$6,000	\$6,000	Jody Benecke	115	Jerome Fleg	Department
						Burbank Scene		
SRT	ShopBot CNC Router	1	\$25,100	\$26,500	James Newman	shop	Kyle McHarris	Department
SRT	Electric Chain Hoist	4	\$3,528	\$15,000	James Newman	Burbank Scene shop	Kyle McHarris	Department
SRT	Glowforge Laser Cutter	1	\$6,995	\$8,400	James Newman	Burbank Scene shop	James Newman	Department
Theatre Arts & Fashion	Bernette b37 Sewing Machines (12)	12	\$550	\$6,600	Downing-Lee	Burbank Rm. 112	Laura Downing- Lee	Department
Theatre Arts & Fashion	Electric Chain Motors & Rigging Clamps	10	\$2,900		Downing- Lee/Newman	Burbank Theatres	Laura Downing- Lee	Department
Theatre Arts & Fashion	Reliable 7000IS Professional Steam Iron Station	1	\$1,900		Downing-Lee	Burbank Rm. 112	Laura Downing- Lee	Department

Arts & Humanities Total

\$260,178

	HDMI Auto Track Live Stream Camera &					3rd Floor		Media
Work Experience	Tripod	1	\$4,500	\$4,500	Lauralyn Larsen	Bertolini, 4875	Brad Davis	Services
Car	eer & Technical Education & Economic De	velopr	nent Total	\$4,500				
Certified Nurse								
Assistant - Home						Skill Lab		
Health Aide	Dual head teaching stethoscope	4	\$400	\$1,600	T. Lundqvist		Tammy Sakanashi	Department
						Race-Builing	lfleckner@santar	
Dental Education	Carpet for dental clinic waiting room	1	\$5,000	\$5,000	Lucinda Fleckner	Dental Clinic	osa.edu	Department
						Race-Building	lfleckner@santar	
Dental Education	Pano 3D Xray Machine	1	\$73,000	\$73,000	Lucinda Fleckner	Dental Clinic	osa.edu	Department
					Luciinda	Race-Building	lfleckner@santar	
Dental Education	Adult X-RAY System Training model	2	\$1,296	\$2,692	Fleckner	Dental Clinic	osa.edu	Department
	Large TV for 4044 for the back of the							
	room for instructor viewing while					Race 4044		Media
Medical Assisting	teaching	1	\$3,000	\$3,000	Kat Slusser		Kat Slusser	Services
Nursing RN	Urinary Catheter Task Trainers	17	\$4,286	\$72,862	Katherine Magee	4059, 4058, 4060	Katherine Magee	Department
	·	17			Katherine	4059, 4058, 4060		
Nursing RN	Gurney Stretchers x2	17	\$2,270	\$38,589	Magee		Katherine Magee	Department
Radiologic Technology	Cross Table Lateral X-ray Positioning Leg Holder	2	\$500	\$1,000	Tammy Alander	4047/4046	Bonnie Patterson	Department
Radiologic Technology	RAYSAFE X2 SOLO R/F WITH MAS	1	\$11,000	\$11,000	Tammy Alander	4047	Tammy Alander	Department
Madiologic reciliology	INTERIOR AZ SOLOTOT WITH WAS		711,000	711,000	ranning Alander		ranning Alander	Department
Radiologic Technology	ASRT Patient Care Safety Essentials	1	\$1,400	\$1,400	Tammy Alander	4074	Tammy Alander	Department
	ASRT Human Skeleton Anatomy					4074		
Radiologic Technology	Essentials	1	\$215	\$215	Tammy Alander	4074	Tammy Alander	Department
	Heal	th Scie	nces Total	\$210,358				
						3865		Media
Child Development	Viewsonic 86 IFP mobile"	1	\$12,000	\$12,000	Maleese Warner	3003	Maleese Warner	Services

			Г				l	1
	Replace window shades/blinds in Call					3862		
Child Development	Bldg classroom # 3862	2	\$400		Maleese Warner		Maleese Warner	Department
	Instruction & Strategic Program Dev	/elopn	nent Total	\$12,800				
Kinesiology Athletics						Tauzor		
and Dance	football Helmets and Equipment	30	\$500	\$15,000	Markovich	Tauzer	Weaver	Department
Kinesiology Athletics	Replacement Equipment for KAD activity					Tauzer 905		
and Dance	classes	20	\$400	\$8,000	Markovich	Tauzer 903	Weaver	Department
Kinesiology Athletics						Haehl Pavilion		
and Dance	Attack II Machine - Volleyball	1	\$4,000	\$4,000	Markovich	naeni Favillon	Weaver	Department
Kinesiology Athletics						Bailey Field		
and Dance	Hammer Cage	1	\$60,000	\$60,000	Markovich	Balley Fleid	Weaver	Department
Kinesiology Athletics						Bailey Field		
and Dance	Pole Vault Pit	1	\$33,000	\$33,000	Markovich	Danley Field	Weaver	Department
Kinesiology Athletics						Quinn		
and Dance	sideline tents	20	\$700	\$14,000	Markovich	Quiiii	Weaver	Department
Kinesiology Athletics						926		Media
and Dance	TV screens	10	\$2,200	\$22,000	Markovich		Markovich	Services
Kinesiology Athletics						Quinn		
and Dance	Lane line reels	2	\$6,000	\$12,000	Markovich		Weaver	Deparment
Kinesiology Athletics						APE		
and Dance	Mat tables with mats	2	\$800	\$1,600	Markovich	, <u> </u>	Weaver	Deparment
Kinesiology Athletics						Tauzer 926		
and Dance	Ice Machine	2	\$6,500	\$13,000	Markovich		Weaver	Deparment
Kinesiology Athletics						Bailey Field		
and Dance	Hurdles	48	\$400	\$22,500	Markovich		Weaver	Deparment
Kinesiology Athletics			4	4		Bailey Field		
and Dance	High Jump Standards	1	\$2,500	\$2,500	Markovich		Weaver	Deparment
Kinesiology Athletics			4	4		Bailey Field		
and Dance	PV Standards	1	\$19,000	\$19,000	Markovich	,	Weaver	Deparment
Kinesiology Athletics			40	A		Tauzer 999	ļ	
and Dance	Selected Weight Room Equipment	4	\$2,500	\$10,000	Markovich		Weaver	Deparment
Kinesiology Athletics			40=	40-05-		Bailey Field	ļ	
and Dance	High Jump Pit	1	\$25,000	\$25,000	Markovich	•	Weaver	Deparment

Kinesiology, Athletics & Dance Total \$261,600

College Skills	IPad Bundle (with pencils if Possible)	10	\$680	\$6,800	A. Flores	4251	Amy Flores	IT
					Sheryl Cavales	1603, 1684,	Sheryl Cavales	
English	Rolling Chairs with Desks	116	\$1,667	\$193,372	Doolan	1607, 1626	Doolan	Department

Language Arts & Academic Foundations Total \$200,172

Library Services	Instructional collections for district libraries. Library has no general fund collection budget.	1	\$225,000		Mary-Catherine Oxford	l Dovle Libraries	Mary-Catherine Oxford	Department
	Dual Delivery Retrofit to support					Pet Rm 718 & SR		
	equitable instruction at Pet & SR includes					227 (formely	Erin Daniels, Mary	Media
Library Services	upgrade (analog to digi	2	\$37,500	\$75,000	Erin Daniels	4327)	Catherine Oxford	Services

Learning Resources & Educational Technology Total \$300,000

Petaluma Academic						DC 641		
Affairs	Psychology Observation Study Pods	3	\$20,000	\$60,000	Regina Guerra	PC 641	Regina Guerra	Department
Petaluma Academic						TBD Possibly:		Media
Affairs	Psychology Observation Rooms	1	\$0	\$95,000	Regina Guerra	641/697/690	Regina Guerra	Services
Petaluma Academic	Digital Photography Lab furniture +					PC 128		
Affairs	copier	25	\$0	\$20,000	Regina Guerra	PC 128	Regina Guerra	Deparmtent
Petaluma Academic	Woodshop equipment - Construction					Construction	Catherine	
Affairs	classes	1	\$0	\$50,000	Regina Guerra	Center	Williams	Department
Petaluma Academic						PC 103 -		
Affairs	Analytical Balance Board	3	\$2,800	\$8,400	Regina Guerra	Chemistry	Mas Ilamura	Department
Petaluma Academic						Capri Creek-PC		Media
Affairs	Multi-modality Classroom-Capri Creek	1	\$40,000	\$40,000	Regina Guerra	1101	Regina Guerra	Services
Petaluma Academic						DC 247 Fachion		Media
Affairs	Solstice Receiver	1	\$1,500	\$1,500	Regina Guerra	PC 247 Fashion	Emily Melville	Services
Petaluma Academic	BiAmp with ceiling speaker and wireless					DC 247 Fashion		Media
Affairs	mic	1	\$20,000	\$20,000	Regina Guerra	PC 247-Fashion	Emily Melville	Services

Petaluma Academic						PC 101		
Affairs	Archeology ADA dig box + dirt + lids	1	\$5,000	\$5,000	Regina Guerra	PC 101	Regina Guerra	Department
Petaluma Academic						PC 211-ESS		Media
Affairs	Projector and screen	1	\$30,000	\$30,000	Regina Guerra	PC 211-E33	David Kratzmann	Services
Petaluma Academic						PC 247-Fashion		
Affairs	Mini Ipad 256 GB	1	\$700	\$700	Regina Guerra	PC 247-Fasilion	Emily Melville	IT
Petaluma Academic						PC 247		
Affairs	Fashion Display Stand	1	\$5,000	\$5,000	Regina Guerra	PC 247	Regina Guerra	Department
	Petalun	na Can	npus Total	\$335,600				
Emergency Medical						604		
Care	AED Trainer	15	\$300	\$6,000	Hsieh	604	Hsieh	Deparmtent
Emergency Medical						604		
Care	E-Z IO Trainers with Bones	4	\$515	\$2,060	Hsieh	604	Hsieh	Deparmtent
Emergency Medical						604		
Care	ALS Equipment Bag	12	\$450	\$5,400	Hsieh	604	Hsieh	Deparmtent
Emergency Medical						604		
Care	Moulage kit	1	\$1,300	\$1,300	Hsieh	604	Hsieh	Deparmtent
Emergency Medical						604		
Care	Conterra MCI Kit # RD-4011	2	\$300	\$600	Hsieh	604	Hsieh	Deparmtent
Emergency Medical						604		
Care	BLS Equipment Bags	12	\$450	\$5,400	Hsieh	004	Hsieh	Deparmtent
Emergency Medical						604		
Care	ALS Simuator	5	\$41,000	\$205,000	Hsieh	004	Hsieh	Deparmtent
Emergency Medical						604		
Care	Ambu Smartman (ALS)	5	\$5,000	\$25,000	Hsieh	004	Hsieh	Deparmtent
Emergency Medical						601/605/1100		
Care	White boards for classroom walls	12	\$700	\$8,400	Hsieh	001/003/1100	Hsien	Deparmtent
Emergency Medical	Network Controlled Technology Human					604		
Care	Simulator SimBaby	1	\$60,000	\$60,000	Hsieh	004	Hsieh	Deparmtent
	Pu	ıblic Sa	fety Total	\$319,160				
			4	4		1860		
Biological Sciences	Aquarium Chiller	1	\$400	\$400	Tony Graziani		Kirsten Swinstrom	Department

						1000	Shawn	
Biological Sciences	Binoculars	24	\$200	\$4,800	Tony Graziani	1860	Brumbaugh	Department
Biological Sciences	Midsagittal head model	1	\$1,000	\$1,000	Tony Graziani	1830	Danielle King	Department
Biological Sciences	Human Torso model	1	\$7,000	\$7,000	Tony Graziani	1830	Danielle King	Department
						Lindley	Saska	
Chemistry and Physics	Vibration Isolation Table	1	\$5,000	\$5,000	Masanori limura	Center/Lark	Gjorgjievska	Department
	Microwave Plasma Atomic Emission					Bech Hall	Milena	
Chemistry and Physics	Spectrometer	1	\$56,000	\$56,000	Masanori limura	весн пан	Kalagorgevich	Department
	Energy Dispersive X-ray detection system							
	for elemental analysis (add-on for the					Lark		
Chemistry and Physics	JEOLSEM)	1	\$50,000	\$50,000	Masanori limura		Jan Kmetko	Department
	full classroom technology refresh							
Earth and Space	including Solstice and Dual Modality					Lark 2009	K. Gerber & R.	Media
Sciences	Instruction	1	\$41,500	\$41,500	R. Perlroth		Perlroth	Services
	full classroom technology refresh							
Earth and Space	including Solstice and dual modality					Lark 2039 & 2049	K. Gerber & R.	Media
Sciences	instruction	2	\$37,500	\$63,000	R. Perlroth		Perlroth	Services
Earth and Space						Lark Storage	L. Sparks &K.	
Sciences	Equatorial Telescope Wedge	1	\$600	\$600	L. Sparks	Lark Storage	Waxman	Department
Earth and Space						Lark Storage	K. Waxman & L	
Sciences	Replacement telescopes and accessories	1	\$3,000	\$3,000	L. Sparks	Lark Storage	Sparks	Department
Engineering and	Replacement Laptops for ENGR Materials					Lark 2039		
Applied Technology	Lab	10	\$1,800	\$18,000	Vince Bertsch		Gamal Mansour	IT
						Lindley Center		
						Innovation		
Engineering and					Robert	Space/Bussman	Robert	
Applied Technology	PRUSA XL FDM 5 Extruder Printers	4	\$4,000	\$16,000	Grandmaison	- Cp a - C - C - C - C - C - C - C - C - C -	Grandmaison	Department
Engineering and			40	*		Lark 2039		
Applied Technology	Hardness Testers, Phase 11 900-331	1	\$3,500	\$3,500	Vince Bertsch		Len Briese	Department
Factorial	Donton Tools Dools CAIC ASSIS				Dahaut	Lindley Center	Dalaant	
Engineering and	Bantam Tools Desktop CNC Milling	٦	ć= 000		Robert	Innovation Space	Robert	
Applied Technology	Machines	2	\$5,000	\$10,000	Grandmaison	·	Grandmaison	Department

Engineering and Applied Technology	Beam Box Pro Desktop Laser Cutters and Beam Air Filter System	2	\$6,500	Robert Grandmaison	Hnnovation Space	Robert Grandmaison	Department
Engineering and Applied Technology	Luguna Tools HSD Smartshop 4x8 CNC Machine and Dust Collection System	1	\$65,000	Robert Grandmaison	Hnnovation Space	Robert Grandmaison	Department
Engineering and Applied Technology	Stratasys F370 3D Printer & Supplies	1	\$86,000	Robert Grandmaison	Ilnnovation Space	Robert Grandmaison	Department

Science, Technology, Engineering & Mathematics Total

\$443,800